(BB, %)

= 2 L6411 A SH6E28 SH64E3A SH6E4R SH64E5H SH6E6 A 2 &t
"N = B 4F Lt " = B 4F Lt A = HI 4 Lt A = HI F b A = HI 4 Lb A = HI 4 ST Bl £E b
E ) 4,675.5 89.5 49116 98.7 5,374.5 101.1 5,944.4 108.5 5,794.5 108.5 26,700.5 101.4
K A #®OA W 19,8225 86.6 | 19,986.4 96.1 21,432.1 919 247774 108.7 | 23,7449 106.5 109,763.3 97.9
a 5 24,498.0 87.1 24,898.0 966 | 26,806.6 936 | 307218 108.7 | 29,539.4 106.9 136,463.8 98.6
E3] ) 77.4 84.5 73.7 88.8 84.6 88.9 133.9 1133 135.4 1136 505.0 99.6
B &4 | L] ) 968.7 89.4 920.8 94.6 1,027.8 91.2 1,084.6 92.1 1,004.1 92.2 5,006.0 91.9
=) 5 1,046.1 89.0 9945 94.1 1,112.4 91.0 12185 94.1 1,139.5 94.3 5511.0 925
E ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
F 4 & WA Y 0.6 85.7 0.8 100.0 0.8 114.3 0.8 114.3 0.9 1125 3.9 105.4
=) 5 0.6 85.7 0.8 100.0 0.8 114.3 0.8 114.3 0.9 1125 3.9 105.4
& ) 2.1 58.3 2.1 91.3 3.1 738 5.0 32.1 3.0 28.0 15.3 420
E R L] ) 4.8 48.5 5.1 58.0 5.8 61.1 5.7 59.4 55 63.2 26.9 57.8
a H 6.9 51.1 7.2 64.9 8.9 65.0 10.7 425 8.5 43.8 42.2 50.9
) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
i F A L] ) 18.9 100.5 15.0 99.3 24.8 115.3 23.6 114.6 22.5 109.8 104.8 108.6
a 5 18.9 100.5 15.0 99.3 24.8 115.3 23.6 114.6 225 109.8 104.8 108.6
) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1T= WA Y 0.2 100.0 0.3 150.0 0.5 100.0 0.5 125.0 0.3 150.0 1.8 120.0
=) 5 0.2 100.0 0.3 150.0 0.5 100.0 0.5 125.0 0.3 150.0 1.8 120.0
E3| ) 3,253.7 93.9 3,546.0 107.8 3,732.1 101.7 4,261.6 111.9 3,735.3 108.7 18,528.7 104.9
B KA L] ) 847.4 119.8 789.0 97.3 775.2 74.9 948.8 84.0 885.3 75.6 4,245.7 875
=) S 4,101.1 98.3 4,335.0 105.7 4,507.3 95.8 5,210.4 105.5 4,620.6 100.3 22,774.4 101.1
& ) 8,008.7 91.2 8,533.4 102.2 9,194.3 1012 10,3449 109.8 9,668.2 108.5 45,7495 102.7
a3 ] OA ¥ 21,663.1 87.7| 21,7174 960 23267.0 91.1 26,841.4 1068 | 25,6635 104.4 119,152.4 97.2
& i 29,671.8 886 | 302508 97.7| 324613 938 | 37,186.3 1076 | 35,331.7 105.5 164,901.9 98.7
) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SEFR L] ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a & 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
E3) ) 1.2 85.7 1.3 100.0 15 100.0 1.6 94.1 1.4 116.7 7.0 98.6
p: N WA Y 10.3 84.4 10.3 85.1 12.9 104.0 12.2 104.3 10.5 86.8 56.2 92.9
=) 5 115 84.6 11.6 86.6 14.4 103.6 13.8 103.0 11.9 89.5 63.2 935
(%]
7 ASHHEET 8,955.9 99.4 9,349.7 104.7 10,285.8 96.4 9,987.6 95.8 9,031.6 92.4 47,610.6 97.6
55V —XURR—Y 8,950.3 99.4 9,335.9 104.6 10,282.2 96.5 9,981.2 95.8 9,025.6 92.4 47,575.2 97.5
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= 2 SH6ETRA SH64E8 A SH6E9IA SH64F10R SH6E11H SH6F12H 2 &t
"N = B 4F Lt " = B 4F Lt " = HI 4 Lt " = HI F b " = HI 4 Lb A = HI 4 A B Bl £E b
E N ¥ 26,700.5 101.4
K A WA 109,763.3 97.9
a B 136,463.8 98.6
E W% 505.0 99.6
B &4 | wm A WY 5,006.0 91.9
a g 5511.0 92.5
B "% 0.0 0.0
F 4 B WA 3.9 105.4
a & 3.9 105.4
E RN ¥ 15.3 42.0
5 & WA Y 26.9 57.8
=} B 42.2 50.9
N ¥ 0.0 0.0
i F A WA 104.8 108.6
a B 104.8 108.6
N ¥ 0.0 0.0
ITE=S WA 1.8 120.0
a B 1.8 120.0
B "% 18,528.7 104.9
£ A WA 4,245.7 875
a & 22,774.4 101.1
E R ¥ 45,7495 102.7
%45 &t WA 119,152.4 97.2
a8 B 164,901.9 98.7
N ¥ 0.0 0.0
SEFR wm A WY 0.0 0.0
a g 0.0 0.0
E N % 7.0 98.6
B A WA 56.2 92.9
a B 63.2 93.5
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7 ASHHEET 47,610.6 97.6
55V —XURR—Y 47,575.2 97.5
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